2023-2022 plelt (Slgd) lxied) dli]

calall = (Sl Goia¥l & Jo¥) Jraid] 6 elyjub e pasiad] pslal) Cadll e 851 LY zeliad) & zaliad) 2850

18:32:03 2024-12-15 : zalial] 2350 (e Caladl d5La) 5,6

Jac Glysl | g Upsse | sl | el bl | g iSO el b | dlal) S | nald S | lals

sals (po Q.I)A”
91.').\3

paiial] alel) Cial) Canomy e laiz )l g3l

=

4 ¥

i)

o lial) dxin
Agrrans

bl I & ) aall)

dre M) d il plali (e algal

Jod) Joasd) (46 eli5ad 8oladlg paiiad] s lad) Cinall oy ulalad) (ro oy el

2024-2025 pladl zay 5 zgie (5 (i) (Sloid) yloxiol) aliL] 1
2023-2024 pladl zayp zgie s i) (Sleid) loxiod) ali] 2
bl zgie o)) 9l Sl B389 &Sl dxzl e > 3
Rles] zgie (89 S 3l o)) 590 JSugl) 385 dazl o > 4
LS et i) e (Slgi) lrio¥) aliL] 5



https://t.me/uaecourse
https://almanahj.com/ae/id=29985
https://almanahj.com/ae/id=29985
https://almanahj.com/ae/13physics1/final
https://almanahj.com/ae/13physics1
https://almanahj.com/ae/13physics
https://almanahj.com/ae/13
https://almanahj.com/ae
https://almanahj.com
https://almanahj.com/files_by_day?country_code=ae&date=2024-12-15
https://almanahj.com/ae/13physics1/sheets
https://almanahj.com/ae/13physics1/slides
https://almanahj.com/ae/13physics1/keys
https://almanahj.com/ae/13physics1/exams
https://almanahj.com/ae/13physics1/quizzes
https://almanahj.com/ae/13physics1/book
https://almanahj.com/ae/13physics1/guide
https://almanahj.com/ae/13physics1/files
https://almanahj.com/ae/13physics1/files
https://almanahj.com/ae/13physics1/final
https://almanahj.com/ae/13physics1/notes
https://almanahj.com/ae/13physics1/reports
https://almanahj.com/ae/13physics1/english
https://almanahj.com/ae/13physics1
https://almanahj.com/ae/13physics1
https://almanahj.com/ae/network13
https://t.me/almanahj_bot
https://www.facebook.com/groups/grade10uae2
https://www.facebook.com/grade13uae
https://almanahj.com/s/1ba512
https://t.me/almanahj_bot
https://www.facebook.com/almanahjae/
https://www.facebook.com/almanahjae/
https://www.facebook.com/almanahjae/
https://almanahj.com/s/b32a75
https://bit.ly/3cnrM5Y
https://bit.ly/3clNMhN
https://bit.ly/3f8IKXE
https://t.me/uaecourse
https://almanahj.com/ae/13physics1
https://almanahj.com/ae/id=29507
https://almanahj.com/ae/id=29475
https://almanahj.com/ae/id=29470
https://almanahj.com/ae/id=29469
https://almanahj.com/ae/id=29379
http://www.tcpdf.org

1 2
P. Espring = Ekx

1
I=1

2m

~
I
Q| ~]

V=7,
-V

fa=Ts(

v
v=Af
v
. f1-4—L
a
T f3=3f;
-
1 fs=5f1
v
. fl"ﬂ
a.
= f2=2f
Q.
S

f3=3f




91581 g g b s Tt ol 36 S

Which of the following expresses the maximum distance that a vibrating
object moves from the equilibrium position?

The period o9l ) “ O
_ ) |!

An amplitude STy (T “ O

The frequency a3l O

A complete oscillation Wl 33 ¥ O
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The figure represents the relationship between

The stretch distance (x)of a spring and the force acting
onit (F).

What is the magnitude of the stretch distance (a) on the
graph?

16 cm o

6 cm O

18 cm o

24 ¢cm O
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The period of a simpie pendulum on Earth is (Tl;'arth) . What is the

period of the same pendulum when it is moved to the Moon (TMOO,,)?

& g,
Giventhat: g, == = ,L‘16L’L

TMoon = 6 TEarth

Troon = VO Teareh

TEarth = Vrg TMoon

TEarth = 6 TMoon

O

O
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The figure shows two waves moving at the same speed. Which of
the following is true?

Wave A has a greater frequency than wave B B Aasall e Sl S LT A Ge gl O
|

Wave A has a greater energy than wave B B Aasall e Sl 43U GG A e gl o

Wave A has less frequency than wave B B Aasall e S8 235 4 A e gt O

Wave A has less energy than wave B

B A pall (e BB A3k At A Gy O
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A source of waves produces longitudinal wave of wavelength 20 m ,with a frequency of
(10 complete waves in a second). What is the speed of the wave.?

m
200

o |
O

- im [l
20.0 — O

I
0.50 — O
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Two wave pulses on the same string are headed
towards one another as shown. When both occupy the
same space, which diagram best describes the
resulting wave form?

|
0

Tl
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If a guitar string has a fundamental frequency of (500 Hz).
which of the following frequencies can set the string into resonance?

1250 Hz

-

7hl0 Hz

1500 Hz

1750 Hz

O
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A speaker is placed next to a flame, a loud sound wave is played
through the speaker causing the flame to vibrate.

Which of the following rows describes, correctly, the type ol the
wave and the direction of the flame movement?

il 48 p2 ol . '
Type of waves o
- Direction of flame movement &+
|
Longitudinal ——> [hp
Transverse e b pt
Y
A
Longitudinal g
A4
Transverse i Pt
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Which one of the following birds has the loudest sound?




Decibel Scale

1048 50 di 800 10 dB
Barelyaudole  Casual conversation Alarm clock  Rock concert

'm
30 a4 7048 100 a8
Whisper, 1 m away Heavy traffic Siren

140 dB
Jet engine

S(dB) Sl 50 g0 ks 400 Shas 1

Which of the following quantities is measured in

decibels (dB)?

Energy of sound

Cpal) il O

Pitch of sound

el A2 53 o

Loudness of sound

gl B o

Sound level

Qgall  giams O
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The figure shows a sound wave produced by a loudspeaker.
The sound propagates in the air at the speed of, (336 m/s) .
The frequency of the sound wave?

500 Hz O

420 Hz O

300 Hz O

212 Hz O
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A train is traveling with a constant speed(0. 25v) toward an observer
standing on a platform, where (v) is the speed of sound. The train

sounds whistle of a frequency (/).
What is the observed frequency?
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The bottle acts as an organ pipe open at one end and closed at the
other. The length of the pipe is the equal to the length of the bottle
(0.18 m), and the speed sound of air is (343 m/s). What is the
frequency of the harmenic formed in the bottle?

2.4 kiiz O

0.4 kHz O

1.4 kHz O

140 Hz O
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Two flute players are tuning their instruments. One player sounds a tone

with a pitch of (527 Hz) and the other player sounds a tone with a pitch of
(523 Hz). How many beats per second will the players hear?

None O

525 O

O
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Which of the following indicates the quality of sound that gives each
different musical instrument a unique sound?

Dissonance i o
Timber o gualll g |' }
harmonics Sl g o

Hearing resonance | 1) O
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Which one of the following statements is CORRECT?

An insulator prevents charge from flowing.

B e Rl e Tkl

bl Dl ke sk it f e

Most plastic materials are good conductors.

o N i S 31 g1

Conductors holds charge where they are placed.

Al g S Aadgll B Slalll SYasd! e




S0 &g W gy 1 D1yl 30 51 il s 4503 i e i (g e il

; / When a polythene rod gains a negative charge when it is rubbed with

a cloth.

Which one of the following statements best explains how this happens?

r
‘ Protons transfer from the cloth to the polythene rod. et gl Bl 1 bl e Sligh g ) SRS

| - . - . _—
Protons transfer to the cloth from the polythene rod bl 1 Crclad gl | i b il g | S
Electrons transfer from the cloth to the polythene rod ol gl B T SN e S Y RS
Electrons transfer to the cloth from the polythene rod. « BN gt Bl e g 0N JEX

O
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When you want to charge an electroscope with a rod by induction and you want
the charge to remain when you remove the charging object.
Which one of the following arrangements you will choose?

I
a
A

Bring the charged rod close to the knob, ground the o) A SLESH e 8 a0yl el Dladi i pdD
knob, remove grounding then remove the rod. LGl Bt slaty O

—

Ground the knob, bring the charged rod close to the

: & Bl alagt gl Bt o545 L LAY o
knob, remove the charging rod then remove O

g . . el l - .
grounding. val Wl 41!
Bring the charged rod close to the knob, ground the Blal alasl g SIS 508 a0 (gl Bl wa p20 O
knobsremove the rod then remove grounding. < oad )l Al sl
Bring the charged rod close to the knob, remove the 098 pad )l @ G el B! Al emdll Al o yd5
charging rod then ground the knob. LAl O
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Three charged spheres are at the positions shown in figure. Which one |

of the following diagrams represent direction of the net force F,,, ,
acting on charged sphere B?

. V . o
o \% '®)
II
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The figure shows three charges (q, = 3.0 uC) (g, = =2.0 uC), and (q3 = —4.0 uC). What is the
net force exerted on the positive charge(q,)? Coulomb's Constant (K) = 9.0 x 10°N.m*.C™?

102 01 a3
’«—— 0.05m °._— 0.03m —‘

4. 68N o

252N O

141.6 N O

98.4 N O
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0 ° i} O n u% s (K)=9.0x10"N.m% (2 apgsld
= 25,06 — o

s e The electric field midway between two equal but opposite point
charges is (2304 N/C), and the distance between them is
(50.0 cm) as shown in the figure. What is the magnitude of each
charge?

Coulomb's Constant (K) = 9.0 x 10°N. m?. ¢~

1.6 x 10°°C O
8.0x10 %C O
16.0 x 10 °C | O
8.0x10 °C O
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Diagrams represent the electric field lines of two-point charges.
(A, B, and C), are three points in the electric field of the two
charges.

Which of the following represents the correct ranking of the
electric field’s magnitude at the three points?

Ep < Eqn < E. O
(Ey = Eq) < E¢ O
E, > Eg > E, O
Eg > Ej = E¢ O
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A(+1.6 pu C ) test charge is located at point () near a point charge

(¢), as shown in the figure. The electric force exerted by (¢) on the
test charge is (0.68 N). What is the magnitude of the electric field at

point (a)?
N
1.09 x 10°°% O
C
. 5 N a
4.3x10° = Q
N
3% 102 —
1.3 x107 = O

2.4x10°° f: O
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The figure shows two point charges (q,) at position (0,0) and (gq,,) at position (A).
What will happen when (gq,,) is moved to position (B) ?

Qa ap
. S R -
0,0 B A
Potential energy increases L3130 gl Wbl C
Potential energy equal zero o e P gt Al
No change in potential energy. gl Wl e il $ D Y C

Electric potential decreases. - JE payl Wil C




Juadl yfudng (1,255 1077 1) ol lagians 36 1o gt () g 3! S0
200 1 ol gl 3 gyl gkl a1 glada e . (1500 N/C) lagia st

| lwe gl
" l) Onus\ Gy = 1.6 X 1079 ¢

Two parallel plates are (1.25 x 10 * m) apart. The magnitude of the
E electric field between them is (1500 N/C).

:

Y

How much work is required to move a proton from the negative plate
to the positive plate?

q =1.6x1077¢

3.0x 10718 ] o

2.4%x10°1%] O

20x107") O

3.0x 107167 o




